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() 212'F is oquallo
(a) OK {b) 100K - (o) 37°C (d) 100°C
() A dovico which ls based on thormodynamic propertion of matter Ia called

() Calorimeter (b) Tharmomaetar {€) Hoat engine (d) Keivin mater
() What will happan 1o the force, If the distance betwesn two points oharges |s
tripled?

(0) 19 F (b) % F (6) A F (d) 1/6 F
(V) A semiconductor diode is also knownms

{a) Crystal diode (b) Photo diode (c) Light emitting (d) All of thess
(v)  Accaording to quantum theory energy of elactromagnetic radiation Is directly
proportionat 10

(@) Frequency (b) Wavetength (c) Ampltude (d) None of these
(W)  Resistors 4,052, 8.052, 24052 are connected In paralel in a circuit

oquivalent resistance of combination becomes

(n) 3652 (b) 2.52 (c) 2,452 (d) 2452
(Vi) Momoentum ol a photonofenorgy Ele
(n) Elo (b) me* (¢) E/e* (d) Ec

(vil)  The nuclel of same elament which have same atomic number bul ditferont
mass number are called

(a) laotopas (b) lsobars (o) lonkzed particles  (d) all of theso
(ix)  The unit of mutual inductance is
{a) Faraday (b) Hanry {c) Webes (d) Ohm

(x)  Solid state detectoropersteas
(a) Forward bias (b} Rectifier  (c) Reverse bias (d) Modulator
(xi}  Decay constant of a radioactive element is inversely propartional to

(a) Hatf life (b) Activity  {c) Mean life (d) Wavelength
[{xii}  Which condition i correct for step-down transtarmer.
(a) Ns > Np {b)Vs=>Vp (c)Ns<Np (¢ p

{xiii)  When a stationary eleciron is scattered by the intaraction of ﬁy photon,
the phenomenon Is caled :9\ A
(a) Photoglectric effect (b) Palr production  (¢) Compton et /O
(d) Zeeman effect ?
(xiv)  The equivalent capaciiance of a number of capacitors connected In seriea if |
(a) Greater than capacitance of Individual capacitors
(b) Less than capacitance of indvidual capactorn
(0) Zeoro (d) None of these
() In nuclenar reactor, wo have consarvation of
{a) Mass (b) Energy () Momentum (d) Al of thona
(xvi)  Which of the following Is not correct for laner light?
(8) Monochromatio  (b) Coherent  (¢) Colimated (d) Chromatio
(xvll) A meter bridge s used 1o messure
{0) Voltage (b) Inductance (o) Capacttance (d) Fesistanc

Q.2 Howcan we Increase the efficiancy of a heat engine? Can we get 100%
afficiancy? Il yes, how?
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Caloulate (he slactlc llux pasaing through an Imaginary sphote due 1o & point
churge “q" lying al its centre,
A current of 6A s drawn from a 120 V line, What power i boing developed?
How much anargy In K Wh is expended, If the ourrent is drawn stoaciy for
one week,

B-“’m
What do you moan by a torold? For a torld, show that — 2nr
Caleulate tha enargy of a photon In aV whose frequency s 20 MHz
A particls of mass 'm' and charge ' accelerated fom rest Dirough & potenlis
difference V, find its de Bogaks wavalength.
If & neutron woukd sitively convented inlo energy how much snsgy would b
produced? Express your answer in MeV.
Total enargy of a pantics is sxactly twioe its iesl ess wimigy, cakoulale jly
apead,
Whiat are the characteristics of lases ght?
What are the biclogical advanlages and disadvantages of radiabons?
What do you mean by potantial barmier or junction barrer? What will happen
to it i p.n junction is revere biased?
A Galvanameter gives a full scale deflection for a current of 20 milllamperes
and has o resistance of 10052 How It can be converted Into an ammeter of
range 10 Amperes?

(#) Dorive an expression for the chunge in wavelength of x-rays doe to thelr
interaction with matier,

Derlve an expression for pressurs of wn ideal gus using kinetic molscular
theory.

(&) Explas law of comservation of eneegy for a thermodynamic system and
apply i 10 |sobari: and Isochonic processes.

Derscribre &n eapurinmnt o varily de Brogiie hypothesis. ()

Wiite tolies ons sy TWO of the folowing: (04
Post Offea: Bux = Transformer - Amperes Law r Cell
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